Find the LCM of:
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Compare using <,>, =      
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Change these fractions into a decimal.
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Change these decimals to fractions

.35






[image: image6.wmf]2

.

0


Add or Subtract these fractions:
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Multiply or Divide these fractions:  
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Convert these units accordingly:
12 c = ___ qt
____ ft = 28 in
80 oz =  ____ lb

Order these Rational Numbers from Least to Greatest
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_1261227996.unknown

_1261228066.unknown

_1322239454.unknown

_1322239758.unknown

_1261300232.unknown

_1261228037.unknown
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_1261227938.unknown

_1261227795.unknown

_1261227836.unknown
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